Median posterior

Median posterior

-0.2
_04_

r=0.96
6 RMSE = 0.09

I I I I I I I
14 1.8 2.2

Data—generating value

Ws

0.8
0.6
0.4
0.2
0.0

° RMSE =0.13

T 1T T T T 1
-04 0.0 0.4 0.8

Data—generating value

Median posterior

Median posterior

1.6

1.4

1.2+

1.0

0.8

0.6 -

r=0.95
RMSE = 0.08

I I I I I
08 10 12 14 16

Data—generating value

0.3

0.0

r=0.83

RMSE = 0.02

I I I I
0.05 0.10 0.15 0.20

Data—generating value

Median posterior

r=0.86
° RMSE =0.19

I I I
15 2.0

Data—generating value
to

2.5

0.25
0.20
0.15+
0.10
0.05
0.00

Median posterior

r=0.89
RMSE = 0.03

-0.05

I I I I
0.05 0.10 0.15 0.20

Data—generating value



